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Loy a o 9an nTv NN ORSD L f(z) HY v

ovpm k€ {0,1,...,p— 1} 9355 25 oW )MNO
flatk)=(a+k)fP —(a+k)—a=+kK —a—k—a=0

N0 5 L f 9w owwn 95 on {a+kECL s (o + k)P = of 4+ kP-v non
NN 2190 NTY 19D .p TN

Flo] =Flo,a+1,...,a+p—1]
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(deg f)! 9y N9 N TONY YN DTV W f € Fz] 099 535 4.21 toyv

v nvnd 91 [Fla @ F] = p iR ,pI9 R f(z) DX ,4.20 9502 .4.22 Hnnt
pl-n op

MWIAN DN S

0192990 MMM 5.1

Separable VY 91191 OX (T79) 390D XIPY E nTva Hxannn f(z) 05 5.1 N1
DYNWA Y2V M9 WOR NPT MRS NNNA (2 — a)® 1NN 1 9193 DI PN
-2 m5n pr nwync o Siwan nTva mn it 0w f(z) Hv

ownen  Fyt] »nn Yv onavn nTv v Fo= Fo(f)-2 yan 5.2 fnnt
21NN 295 INT NI 292790 XY PR NN f(z) = 22 — ¢

2 —t=(z—Vt)(x+Vt) = (z+Vt)?
AT ¢ F o 919 )k N 2 PaNnn XN 1TV

22990 f(x) PI0IPN 29D NN D290 DYDY MMD MPDVPAN TIT .5.3 WD
ged(f(x), f/(x)) =1 or p1 ON
f# 0 DX P DX 932990 NN NP9 R f(z) DN 0792

923790 2! — 8z + 16 € Q[z] DIM9N DN .5.4 99N

DTOPIN DIPINONI WNNWI . 0N ORD 71720 78 423 — 8 20N DN o
2% — 2 0y YN (TN NINY) 4-2 PHNY DTIP IWND

o' —8r 4+ 16 = z(2® — 2) — 62 + 16
:w — 5 oy Pwnn —6-2 pon

. 8 64 8 512

3 2 — 2 e il = i

(x )= (x +3x+ 9)(96 3)+ o
292990 24 — 82 + 16 059N MY .0 DN 199
921790 ¢ — 822 4+ 16 D990 DN .5.5 939N

NIRNN .0IPNI NINID YRNYI DIAR MY DVUNVN DIWN XT DY NN DD WM
avny .22 — 4z DY DTOPIN DIPINNOND wRNwN 423 — 162 NN

ot — 827 + 16 = (2 — 4x) — 4% + 16

92P3 , 2% — 4 9MWYN DI W INNN DDA MDD 2P — 4 = z(2? —4)-v 29
2931790 NY 22 — 42?2 + 16 2>
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Separable

extension

Extension of an

embedding

5 OIYNN DIPDAN OX (NT9) MM3VOD NIPN K /F mTv nanin 5.6 110
2227990 NN F Oyn a € K 55

NO 2P —t 0 92990 YR F(t)/F & ,p > 0 yannon nTv F OX 5.7 nnnT
221799

0) ’2 NN .0»»A DTV L o0 192790 MTv nann K/F »nn 5.8 990
nr»a190 K/Lonw L/F

K /Ly K 5Y AR NN L-2 9N 92 00 1192990 L/ F-v 102 o
PR Mg, -9 199 Mg 1|Ma,r IR F 5¥0 a 5v 090000 09990 my g M a € K
J29390 K /L 135 009195 v nw

WY YN 6

DIYPRY ONVINIMN MY f g F(ay,...,a,) — K v .6.1 9290
flx)=g(x) VeeF
flai) =g(a;) 1<i<n
J =g >3 wmom
F(ay,...,a,) 920 n1omnron{z € F(ay,...,a,) | f(x) = g(x)} nsapn mno
J=gpon Flay,...,a,) 99 0099 Fay,...,a, TN 1220 N (71729 HP)

ovANMIIN 93 NY) VW p: F— E oo mTv nandn K/F »nn .6.2 9130
F-5 7 5 Dnsn DX ¢ DY YWD X P K — E v (7100 NN MTY DY
(=0 Y

DVNVY IV a, b P PI9OK g(x) € Flz] > .mTv nann K/F >nn .6.3 9990
DPONMMIVN ¥ 2 NP g DV

f: F(a) = F(b)

o € F 93 fla)=ay f(a) =b 1> o»pnon

NPNYNY IR NN WK i F— F(b) nYonn npnyn Yy 9oNDI ZWno
i: Flx] — F(b)

PYNNIVY 2D DOV DY DPNYN N NYOY 12N 0PN NN Y f(z) = b-v D
NYNIN DVSNMIVNRD LAYN 29D .(a SV o DDA g(z) ) (g(z)) NN

[+ Flal/(g(x)) — F(b)

.g: Flz]/{g(z)) — F(a) 0vammvR N1 110 11T 191N DOIMMIDN NN
g7 XN DWANND 1PNINY DPANMIVIND
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Compositum

Automorphism

D»9PN MY DY DIDVN a,b € K v mTv nanin K /F >nn .6.4 nNon
90 IN Mg, My IV NN MTY IR E,, Ep-2 0y nrnna L F Syn my, my
DVONNMINN

f: F(a) — F(b)

DVANMIPNY NN Y (@ € F 930 f(a) = a Mm9d) F MR DR yapnv
f Ea — Eb

NV a,b v E 9% 07w 0y 99 R 09 g(z) € Flx] o .6.5 9N
0PPM F YR IR VAP f: E — E DpanmivR v oo mom .g(z) Y v

Sla)=10b

NSO F AR NN yapnv [ F(a) — F(b) opammvr v 0TP 93910 %92 ZWIno
E 955 mr 20900 Awar nnownn 29 f(a) = b

DPNN NTYNTNN NN LY F Ov pwoomypn N LF L C K ON .6.6 NN
F VLW FL 55 7972 ymom F, L NXR 201w

f(z) € Flz] 099 Yv 5a 0w E-v 10 My FF C K C E viv .6.7 990
SV MY NN K, ..., K, Nisnd 300 nomn L f(x) Dv a vnv 2on K-11nvod
0PV 10 -5 0797MmN 090w F

E:Kl\/KQ\/\/KT
DIVONMPN WY 2D IR LF v DX by, ..., b-2 120) NS
fi: F(a) = F(by)

G =2 Ky amo N i 990 K = fi(K) y93 . f;: E — E 0mx 220705 IWaN)
P9 K; C FE o»pnn i 999

KiVKyVv.---VK,CFE
JE C BiVByV-- VB 199 K1 VKV VK- 09" [ Ov DYVNYN 9D 0Y T8N

97D

ANYY DA 6.1

yapnn ¢: K — K ovammox X0 K/ F T D3NN 79 DOOWDWIW 6.8 1910
5V INYY NPNYN OV 19N a € F 930 p(a) = a Mm9d F N NN
F oyn orop oann

Syn K nanann Yv ovamor N ¢ € End(K) ovanmmx 95 .6.9 Hnnt
50 NN NTYRNTIN
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Galois group

95 Hv NMann NN Gal(K/F) sy »an mTv nanan K /F >nn .6.10 910
Aut(K) Sv nman-nn w0250 nows oy K/ F 5Y onvamvng
Aut(K/F)- Ggyp G(K/F) on Gal(K/F) may 090n 000

MYNNNI MTY MANIN TINODY (MOIY) NN AN ONPA DYYIY RD90N I2TH
INIDY Man

N7 295  Aut(F) nwynd on Gal(F/Q) wx .mTw nanin F/Q >nn .6.11 Hnnt
NNI® NN W 199 Aut(Q(V/2)) =2 Zy 25 (©NNN NN NNTID) 1N HWNnY 6.9

Q(+v/2)/Q nanann Sv

2PN 990N Payn R Hv ovamvix 93 > Gal(R/Q) = {id} nmm7 jawa
55 135 .R-1 770N ©n Sy M XY oM (p(a?) = p(a)? »3) »arn 1aond
DD npnyn NN R SY ovamoN

VI 995w o Lf(z) € Flx] )0 o € Gal(K/F) > (NNgIN3) 6.12 5990
VW NN o(a) Oy ,f W a e K

WL f(x) = cox™ + ... 4 ¢, DN MO
coa"+...+¢,=0

LDMTPNN 92 DX YaAPNR o 23 WINTN NN D02APM RN INNYNN DY 0 DPYanN

WY YN 7

ARIZY NINAN IWND N 7.1
.Gal(Q(v/2,/3)/Q) nx 1awn .7.1 9930

95 (22 — 2)(2? — 3) Yv Mo NTY MY 25 W E = Q(v/2,V/3) 1903 e
NSWNY 27N /253 25 W /341 /2 mnnn 295 POIBNY yapy E 5v DramoN
V3 5v Hrnn orhan .44v/2 0w 22 — 2 1B S rnn 019N YV DwNYh
NNHY DWWV NYAIR DY .£1/3-9 now /3 1991 22 — 3 1y Nn Q(v2) Yyn

019000 DY DMKN

1ovV2, 26 —V2, 364V3, 44 —V3

IIMIVAN YIIN PY L Nt ntya Sp-2 Gal(E/Q) X 1ow9 9o
NNNNY RN NI INNYY vw 95 nHwn id € Gal(E/Q) orammuvnn
id € 54 mmn
(12) mmnd ormm V3 = v/3 V2 = —v/2 n9wn opamoNg
(3 4) nmno orMm V3 = —v/3-1 V2 = V2 N9 opomvng
(12)(3 4) n7mnS oNm V3 = —v/3-1 V2 5 —/2 NN DPaNMIOIND
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29P YW Nyaarn nman X0 Voawvnd Gal(E/Q) =V = Zy X Zy 950 702
NNV OV mMMannTRn »90 00 29 0V YTNY IDIPN TNND

.
S
12) ((129B4) (64
~ | 7

{id}

{ )

NN E OV MTvnTnn »I10 o)
Q(v2,V3)

PN

Q(v2) Q(v2v3) Q(v2)
\ | /

.Gal(Q(¥/2)/Q) nx 1awn .7.2 990
@ € Gal(Q(+/2)/Q) » 2% — 2 NN V/2 HY RN DIDI9N L(NNYINL) WIND

3

A75N2 1991 Hwon 1901 NN p(V2) Yan .2 — 2 Sv vv oy XN p(V/2) D)
DX .72y32 PNOIN 12OV MY YHNW) Nys Dwiw mt o .o(v/2) = v/2

o, Flay, ... a,) = Flay, ... a,)

oM o = P N {ay, ..., a,} DIVRD O F Oy D100500Y DN0ammin on
DoV Flay, ..., a,)/F 59 019 NM2IN1 DN )WY XN Mynwni ,owTNn
@ = id-w 93Py p(V/2) = id(¥/2)-v »an mow nipna .omv on {ay, ..., a,} 9y

JPoro0N NNann XN Gal(Q(v/2)/Q) = {id} o9

9TON VYIS N YNY XN p NS Gal(Q(V/2p)/Q) NN 1awn 7.3 9N
3

NN XD 03 X ,Q Y NYHMMIDN MANIN N @(5/5)-1 Q({’/ﬁp)-\v 9N NN
JPONMIPIO N DINID)

.Gal(Q(v/2)/Q(v/2)) nx 1awn .7.4 99n

nMana ¢ ox .22 — /2 12md N0 Q(V2) Syn v/2 5w rvmynn os1an Wne
NPON 129 W ,0(V2) = V2 OX .p(V2) = £/2 DTIP WNRIY NN 299 I ,NNI)
SNIDY NNIANA DN ORTNA NIV ¢ = id D
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5952 DYTY KO DAIN N 25va MY T8 (V/2) = —v/2 MmAvarn Nay
NPYNNN NPPY OY 19 12 OTIPN 9)IN2 NYN 073N DR NNYPNRY ¢ NNYP DN
DY VAIN 2 ATON NANTN 99N T2 1Y N .o(V/2) = v/2p NDYpnn ¢ PRY
1PN OX .a,b € Q(v2) MWNI a + bv/2 n1¥a Q(v/2) HY DK 2IN3Y TWONY
D»PNN NIONA IN ND p NOIP

pa+bv2) =a—bv2

925 .Q(\/i) NN YaAPNN OVINMIVIN DN MY MNID MYITN DD X 71720 1)
NoYA (OVANMIVN XTI TY) NN NNIAN PI Y, PPTI DIDN IV W INIDY NNINA
Lig BOM DN NIV

NN NN DN MRID OP vNN RO MOV MINNDNTI IDON ,MIXID IV 0D
2390 292 NN IOV INVNN NN .ONOMNN INY 00D DI NNIN .INID)
5v YNV NV 0N a,b-) E 91 nTv 0y 19 R 099 g(z) € Flx] oN 6.5
nova .f(a) = b 07pm F MR DX yapnv [ E — E ovammvr v iR ,g(x)
pla) =b-v 15 p € Gal(E/F) o»p mdTy

Q({‘/?)-\v NN, NNTIPN NORYN OV PINSN DR VYA IWAN NN MYV DY
©(V/2) = —v/2-v 72 DPpY M NYTY O 1w 2% —1/2 HW 1an NTY NN
D2V YORNND TN N RN

NNID) NN MY P T2 (INNIY DINK TIN) N VAVYNIY 2D MY INIMN
MmN p(V2) = V2p-v 10 ¢ PR Q(3/2)/Q 21wona nanTa we nTv Hv
5¥ 9% NTY RO NINY DN ONPN TYnna) 235 — 2 S 91%an TV IPN Q(\e‘/?)
NI VOYNN NI GO YN DD (DI DY

E-a2 f Yv oovnwvnw oy LE 5Dwa nTv oy 0w f(x) € Flz] o 7.5 990
Sy a2 mown Gal(E/F) »s won .aq, ..., a, 0N

DOPNN @ 935V PRI 12D .p € Gal(E/F) »nn .(NR¥IN2) WINO
(p(ai) € {a’lv e 7an}

©-¥ 910 2N NITIN 8PN NN A = {a1, - ,a, )9 @ DY DINDND 199
MW LS4 =5, DY TR 1D W 0D 009y TRTTN MDY DINNND DY 11’0y THhTN
NNRNNN 2D NPOND M) NYD .71, IMN

®: Gal(E/F) — Sy
Y= Ty,

O’ P N, P(p) =T, = Ty = P(P') DRY 2D DWI TPYRY .MNIAN DY NIV NN
TNTTN PR NN P YD L = P'-Y 92D IR DIDHN WMWY YD DY DNODN
’D 25 OV ,DVONMIMIN NNV PITAD AN TOTY

D(pp') = D(p)@(¢) = TpTp = Ty

IOPP VIAYNN NPYN NN PO N NIPNL ND . T,Ty = Ty DPPNNY MNID DD
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NOYIH NNIDI NNIAN NN NN D) NDIY IWAN ININRD MYV NN .7.6 DI
DUONIMN NPT NNAP DY NNIAN DY N9 D5 . f(z) HY DYMWN NP Oy
P00 NNAND

on a; WRD K = Flag,...,a,] Y200 f = fifo... f, o v f(z)-5 ON
DVWNYN Yy NN NIvn o € Gal(K/F) ovanmvr 95 . f(z) Sv ownwvn 95
POV W

Gal(K/F) — Sdegfl X Sdcgf2 X+ X Sdogfr
L7201 ANY DAPN NDNN NIV DD WRNYAD PNNY PYOY
23— 2 Dwan Hv Hivan NTY N E o Gal(E/Q) N 1avn L7.7 9990

p AR V2, V/2p,v/2p° DN D1919N WY 29 DWW YN L(MNYINT) IR
YR AN LS5 HY NMANTNN NN INIYY NN 19D .3 ITON YV DTN YNV
7o), 0V id MMt NPNYNIY M2 :INIVI NNAN OV DIDN I MM Op o Mynvn
N yapm (id-n NvY) E 5¥ DvammOIN NN 2 — Z NTHNNN DPINMmMIN 0)

:DVNYN DY NOWIS NTHNN T 1dan .Q

V22, V2o V200, V20— V2
PYOyY .1,2,3 0y DVNYA DRIV AWRD (2 3) € S5 NN DIRNN NN 1O
’D 10 OV
OP DT LOYN 195 /2, p-2 DNYY NNNNN 28D DOYIAPY NNIANN DR 19
o”pnn ¢ € Gal(E/Q) ovammuvix
p(V2) = V2p

OV YOIPNN DIPOIONY 20 DV .DOVNMVN IRYD NIy N 7O D0 M XY DAN
MY NN T .o(p) € {p, p*} P9 .p, p? DN Y DYV 2% + T+ 1 NN p
79 .(1,2) N0 DVMIYA DY NYSIN p-v NINNN IR Le(p) = p DN IMIVIRD
NN MINY NORD MDD >N YaN (2 3) X o (1 2) IR 03 v INIY) NNV
.Gal(E/Q) = S5 99 S3 95

MImnn v (12 3) IRYY DY DY NImnn WX ¢(p) = p? XPNT DN
Gal(F/Q) = S3 NN MIvara 03 1991 S3 95 N mAxy (12 3),(2 3)

T2 92 XD N 92N NNV NMIVARD PNV NX NN NNRA NN NNIANY DY)
NOPYPNRY @ PANY NI0N RO DD SY DWW 0N p, p2-v DTN O8Y M2

(p) = p* W(p) = p on p(V2) = V2p

MNY TN 8

ANIZY MANIDY NPYININ Mansn 8.1

D290) D PO OTIP JAN  .INIDY NNIAN WND DYINN DX’XIN DY TYN)
NN OTPRIVY
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Normal

Galois extension

JGal(K/F)| < [K : F| o»pnn K/F m90 nanin 959 .8.1 tWyv

D99 YV 218 0TV NN K OX MWW NNy K/ F mTv nanan .8.2 nan
1991 K-2 989nmn F' Oyn »"oynn o01090 a € K 935 Jpv 19INa -2 nvoD
(K-S Do»vw DY ovNwvn 95

53 N9 3 191379901 YN NY NANINY TONP NoNT 20N Q(V/2)/Q .8.3 nnavt
92990 oM Q(v2)/Q nxt moyy .Q(v/2)-2 oorw ¥ — 2 Sv i
22 — 2 5w 9wan nTw N0 Q(v/2)

ORIV 2P — 1P DY (THN) vNvn NN ¢ 10onm 80 F, (1) /F,(87) nanann
J0972990 NY NANIN WY PRI 5.7 0NTA L(x — E)P-5 v p

1929901 PO NN OXR DR N3N DN K/ F mTv nanin .8.4 namn
mManaNa 0V M LF Dyn »52990 D101 DY 719 NTY NN K-v 759 Dipw it
DN P ON NN NanIN K/ F-v Nt NN

| Gal(K /F)| = [K : F]

23 —2 01991 SV N1wan NTY NI E Awnd Gal(E/Q) nx 21w awn) 8.5 nnnT
Y1V NP YNV p NI V2, V/2p, v/2p° DN DIPDION WMWY 29 DWW THPYNA
NANIN NINT G0N LS5 OV NNIANTNN( HNMIPN) NN NNIDI NNIAN 125 .3 1ToN
.S3 NN NN 6 ATON XN ANLY NN DY L[E Q] = 6 05 1T1ad Yy nNad)

2-1 DPYNN YNV p — 2 DY INURI p IO 099 f(z) € Q[z] > .8.6 991
9%an NTY E o (DTNY NN NOX DYANY) DPWUNN DPRY DA DYNWY
"D IIN OV

Gal(E/F) =S,

D M1 q90Na .Sp TN MWN DRI NNIANY IR T30 IO

p|[E: Q] =|Gal(E/Q)|

NYNY 27N MO IDN .p ITON ¢ IDN DNV NNIND YWV NN N OVIP LAY 19D
P2 NYONN NN LINIYY NN DN NN NADIM NTNND LID NI .p TIRA INNN
QN2 IMN N Sp-5 NOWN DD INYN NN NYApN) D200 DVNYN Y
SV NN NP2 (1 2) N PONN D DOPTYRD DY NN INR NN N
NI INNNN 23 MINY IWON DXOPTINRA INY WO Oy .oF(1) = 2 9apy o Mmnnn
Gal(E/F) = S, 1991 5, 95 DX DI¥Y p TN NN N0 0 (12...p)

MM IOV Nwan nTY E/Q o 99 v 0w f(x) € Qlx] o 8.7 9n
deg f(z) > 8 n1ona w ,Gal(F/Q) = Qs DRV
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Orbit

™12 9N 0 < 8 My S,-1 ndwn Gal(E/Q) N deg f(z) < 8 DN MO
NNT MO .NMAN YV N9 NtYa Qg DY MO NW PRY NDNIN MNIANN NN
JNONN PVI9N NIPRD NV

oV DIPNN NN D) NOON NT) S7 DY NNANTNND WONMIVN (Jg D NYOVIA N
Wz e X X ={1,...,7} nxapn 5y noyo 80 R Sy, ..., S

|Qs]
: stab =———— = |orb <7
[QS sta (ZE)] \stab(x)| |OI‘ (I)| =
1991 —1 IR NN Qg HY ORIV KD NNIANTNN YOV 1O [stab(z)| > 1 199
> 1PN M LX DY ONWIL NN D —1 Yo .z € X Y35 —1 € stab(x)
OV )1DW PADN D7D VAYN X DY TPONNIV DAY S7-2 0NV KD TN PR
5872 Qs

K/F oxn .o E/F 5 o FFC K C F nanina va) .(1m2d) 8.8 990
oI E/K oNn 219191

nTY NN B K = Q(V/2) ,F = Q 5wnd .50omm nvnd nann N9 K/F ywmne
a3 — 2 59 9van

5v 919N NTY D) NN F Oyn f(x) Hv 9wan nTv N0 E or 30 E/K 9ar
K oyn f(x)

iy X Ly X Lo NN DOV MNIDY NNANY T £/Q NanIn N0 8.9 90

(22 — 2)(z® — 3)(z% — 5) v 9ws nTv M .E = Q(+v/2,v3,V5) 902 mino
90N .DORNNND DTN NNANN 192 8 NIN THNNY MNXID OP .ANIDY NANIN R 1ON
0”P5 27N NIV NNANA ¢ TN DD

p(V2) = V2,  o(V3)=+£V3,  o(V5)=+V5

WY NYDIANND NNANND DYDY NN R NMAN L2 X 1 9T0N DMIND DO DD
DD SV NNIZI NNAN 1 DND .S-2 JOYD IWAN N 1NN NN Qg NMIYOHY 20
2Q Syn 6 NoyNN P19 X

.G N9y nan oy N9 Nann K /F onn o) nand vinow .8.10 9N
Mo .a € K

orb(a) = {¢(a)| v € G}

PR 192 NP NY NN NTIPIN) NIXIDY NNAN DY NOWAN NNN @ ¥ NN NINY
NI @ DV O YNn DN 2D VN L(MRN

ma(z) = [ (x-0)

beorb(a)
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1991 a YV L YNN DIPDIAN HY YNV TN p(a) TAXR T NN
I[ @b 1m
beorb(a)

PRY NIND INYI NYD .D2190 DYVNVY 1D PR 199 02990 m, D IO 1D M
WV m, SY ¢ YW D930 109 m, NN YNon K-v 1D DW) .D2A0) DOVNY m,-D
95395 ("2 P19 XX DY HY DVNYN DY NPV p(a) =c-v o p € G

.orb(a)-9 7w m, Sv ¢ v

[Fla] : F] = degm, = |orb(a)| o»pnv .8.11 HpoY

Sv oynn owman NN NS .Q(v2,v3)/Q nanann Yy vay .8.12 Yy
[Qla] : Q] nxy (@wMYY 1 1ad MmNaY) a = v/2 — 3v/3 + 26

V0 Zig X Zo N NANINN DV NXIZY NNIANY IO .OTIPN VAYNI YNNI NNO
awno {id, 6, 7,07} ndv DINN NN

:a DY 919010 NN N¥N)

id(a) = V2 - 3v3+2V6
0(a) = —V2 —3vV3 -2V6
7(a) = vV2+3vV3—2V6

07(a) = —v2 —3V3+2V6

Q(v/2,/3) »mopin anann May ooa xn 1, v/2, /3, V6 Mot 00 0w 091 on
oYY (z—a)(x—0(a))(z—7(a))(z—07(a)) XN 1922100 DIN9N 120 .Q Syn
[Q[a] : Q] =4 »n

OPPHN DIPDIDN 1D NYTY N¥I) M2I) :ININ NTIPIN NN PIYY MY .8.13 W
0Ww9n 199 orb(v6) = {£v6}-v o9 w0 2yh noowa wonwn /6 Sv
DOYTY 922 DNIRY 293 22 — 6 NIN o»HN

WIUN YN 9

AN MINND - 9.1

o WwaN .Gal(K/F) nxoy n1an I waHn F v nTv-nm K nTv ymina
$ToNN D2 NSO
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Fixed field

Fundamental
theorem of

Galois theory

Galois

Correspondence

NTYVN NN LK SV DnvamvLIN DY nMan G onm ,nTv K o 9.1 A0
KY={ac K|Vo€G:o(a)=a}
GOV MIvD Y NI

Gal(K/L) < ,F C L C K DX 370 M9 YN MpNynn dnY .9.2 [y
NP M b Axsna K C K7 aww H < G oN o wmd  .Gal(K/F)
JNN DY9N INY IORN MPNYNN IR 2Y9N0 ©PWNNYD

nn .G o= Gal(E/F) nx9y nnan oy mv nanan E/F onn .9.3 9990

EH = Blen#d s ammn wpq, ..., @ 0P 9y masnn H < G nman-nn
5y DYNPNN DIINY N2 W T onoro Y C BIen#kk aoonn ynne
JFH = plenerl 195y oayy onw 927 95 P Yy 0) DYIPN {1, 0} OT

T

DPY DNIN ONIND .MTY NanIn E/F onn 9.4 toyv
(7229901 YNNI M) NNV NanIn E/F .1
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Repeated
quadratic
extension (or
quadratically
defined)
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